R\Clients\Mastergrain PERMANENT\B - Texas Dept of Ins\TDI - DR 985 Fiberglass Door - Opaque, Impact (Smooth Skin)\Drawings\TX-4880.dwg, TX-4880

MAaAsTERGRAIN

16566 HIGHWAY 12 PO BOX 399 MIDLAND, ONTARIO, CANADA

SMOOTH SKIN SERIES
FIBERGLASS OPAQUE
SINGLE DOOR

INSWING /OUTSWING
"IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & Ré09 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. This system has been tested and evaluated as a large missile impact protective
system for installation in areas that require wind borne debris protection. This
product meets missile level "D" as defined in ASTM E 1996.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Elevation

Horizontal & Vertical Cross Sections (2X Framing)
Horizontal & Vertical Cross Sections (1X Buck)
Vertical Cross Sections (Thresholds)

Frame Anchoring & Hardware Details

Bill of Materials & Components

O |IN[oN| OB WIN|—

___37.75'MAXO.A.

b
0N
e ")
Yo 5 &
Ex o ]
S 8z
wu G M 0o
o Z s &
u.w 2o
) — -
68 E,a <
Tuw ani %
g‘l— FTWn =
2 309 0
2> B
Zowo %
oM h4
5\ O N - o
o
X
ko] 9%Z u
0] zm (o]
: §%¢
— .Q
? 30t &
j -
: :
[ §
)
[=
o N
£ w
3 =
(8]
o
fa)

CERTIFICATE OF REGISTRATION # F—11852

MASTERGRAIN

FIBERGLASS DOOR
TYPICAL ELEVATION, DESIGN

PART OR ASSEMBLY:
PRESSURES & GENERAL NOTES

PRODUCT:

LFS
BY

3/04,/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO,| DATE

REVISIONS

DATE: 8/28/18

SCALE:  N.T.S.

FRAME WIDTH
g 2
E 42
<2 05
OF x9O
25 =% | X
> in O
= © UEJ
= 7
= &
DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION INSWING OUTSWING
POSITIVE NEGATIVE POSITIVE NEGATIVE
X +80.0 -90.0 +80.0 -80.0

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4880

sHeer 1 oF 8

© 2018 R.W. BUILDING CONSULTANTS INC.



"ON| SINVLINSNOJ aNIaling "m"d glLoz Q

Zsgll—d4 # NOILVYLSIOZY 40 3ILvOI4ILYID SNOISIAIY i
SY3INION3 TVYNOISSI408d 40 Q¥VOE SvX3L SIVIIa TINVG YOO Ad - Wb.\w ON| 0o slxlo| o 8_
S47| 30090 241/08!1 8L0Z 0L 31vadn| oz/+vo/c| | | Lo
L616°6G9°CLY "ON 8uoyd : N =S Q1L
S6SEE M4 02UIDA 0SZ xog .o.n_\Sy\%~ "ATBWASSY 30 Lyvd X M s9°
‘ONI ‘SINVLINSNOD 9NIa1INg 400 — W o . z v_A 2_
a S <] a|lal2 R~
€ZLYOL# ‘3'd SvX3l NIVHOHILISYN G M 6|y w &
"3'd IPIWYDS "4 Uopuky :Ag peaipdald sjuswinosoq :10NA0yd HEIEREEE &
o
Q S
o =
= (8]
—
z S
a
_ o
. S
”I “\. -
~ <
\ = S
\ i
L oz >
oz
2 O !
O 0 2 < b
> = < = =5
S i D& W o
2 i E3
2 20
~— 5G| ——
J/)TH 2
| 59
+ 2
N
]
o
= a1
L
2
=z
z=
L
oz
=
&
=
o o
'\ bre
A\Y ]
o o a
@) @) o
oz o o
e = &)
m Z -
=
—\\ =
A\ o
o N
: [+
o
x
= mw W£9EY _
o = Q .
- - oQq p
= . =
—23 at: 25
LT m v mm
> Z o
u } oY} £
= = '
(72} oz %E
Z
_ S = 2 3%
Wy § o= =5 zE
— > = O = v
Ty — &8 R > T ik ek
- 2 g2 80
3" OFr
AI:WN._.I'V % $m
* SO
23
mv @ O
L L
- QN
1HOEH TINYd 400d XYW .0'6.

1'2 'Bmp 0ggy-X L\sBuimeig\(ups yioows) 3oedwi ‘anbedo - 100 sse|Biaqid 586 W - 1L\SU| 40 3da@ sexa] - A\LNANVINYId ureiBiaise\siuald\y



"ON| SLNVLINSNOJ gaNIaing "Mm"'s 8102 Q

ZS8Ll—d # NOILVYLISIOZY 40 ILvOIdILy3D SNOISINSY
SY3IINIONI IVNOISSIH0¥d 40 QYvOog SvxXaL NOILYAZTH Ag 31vd [ON| oo nl o 87
. . S41| 3000 2¥1/081 810z 0L 3ivadn|oz/+0/s| L || vi|X |
L61L6°6G9°CLE 'ON auoyd : NS Q | L
C6SEE 14 OOMIOA OF% X0g .o.a\ww@u "KIGNISSY_¥0_Luvd = 5 2|5
"ONI ‘SINVLINSNOO ONIaTINg AN - z | 3_
400d SSY1943914 0 5Ele X
€ZLYOL# '3'd Swxal NIVHOHILSYN Gl el &
'3'd IPIUYDS 4 uopuk] :Ag paipdeiq sjuswinoog 11 0NA0Y¥d 513|358 %
Rl (79 (T R
) ) N )
o o o o
o w w0 w
o 0 <0 o0
L]
s
) (o)
m & S
28 -
= = S
; (TR N c
¢ [N e}
|_ |5 CZ=
19 = | < < th O
122183|-2 |20
] — s
IZ2E |55 |23 .
5 = S| o
lu|u8|u8|E
C Y- R E-RE - =
EFIERFIERIE
|ESa|€Sa|€Sa| =
18]
] 17}
5 8| 2| =
o3 e | o
S|E|85]|¢
[- ™ S b4

N,

SEE HARDWARE
CHART

\

Q|33
\

N

1°€ ‘BMp'088Y-X L\sBuimesg\(upts yloows) 1oedw ‘anbedQ - 1ooq sse(b1aqi4 586 WA - 1AL\l JO 3daQ sexal - G\LNINVINYId utelBiaseN\s1uald\y



"ON| SINVLINSNOJ aNIgling "Mm°'sy 8102 @)

SE5Nioh TSR e R, [ (omms x2) swouozs ssowo g — I3 ToN| |
N— I S47| 3000 ddI/081 810z oL 31vadn| 0z/¥0/c| t |<|u|X|2| Q -
T i .oﬁ\;\m«m. K1GAISSY 90 19vd NN
"ONI ‘SLNVLINSNOD ONIGTINg N = 2 | 4_

40040 SSY19434I4 0 5lsle X
SZTLPOL# '3'd Swxal NIVIOHILSYA MEIMME &
‘3'd IPlWYdS "4 uopui] :Ag paipdaig sjuswnoo( :1.0N3J0dd W m 3 W m M

ZE/XT. SHEATHING

¥ P ]
S 4
1L
P 4
. ¢ 11
y
i 114
’

@)

1

SINK DRYWALL
T >\ Gﬁ \

%
A

/3 \ HORIZONTAL CROSS SECTION
\\4j Shownw/2XBuck
Outswing shown (Inswing similar)

INTERIOR
EXTERIOR

//
\— DRYWALL

INTERIOR

1"\ VERTICAL CROSS SECTION
W Shownw/2XBuck
Outswing shown (Inswing similar)

e
EXT. SHEATHING —\
EXTERIOR

INTERIOR
EXTERIOR

/|

m HORIZONTAL CROSS SECTION

\\U Shown w/ 2X Buck
Outswing shown (Inswing similar)

il
/4

EXT. SHEATHING

L'y ‘Bmpoggy-XL\sBuimesa\(ums yioows) 1pedw ‘anbedg - Jooq sse|biaqiy 586 ¥A - (AL\SU] Jo 1daq@ sexaL - B\LNINVINYId UresBiaiseN\siualdO\y



"ON| SLNVLINSNDOJ aNIaing "'m's 8L0z Q

i Baoeeeas o auvoese | (Gon xu) swouoas ssowo || —— SIva Ton
Tellidan & NOAEGE S41| 3000 2¥1/0dl 810z 0L 31vadn| 0z/+0/< | | 2 bl 8 8_
LBLB'6S9'CLEB 'ON suoyd = . o0]
G6SCE 4 OSUIDA OSZ xog .O.m&@ ‘A18W3SSY 80 LMvd W m = . M o]
*ONI ‘SINVLINSNOD 9NIATING g |
4000 SSY1943414 S |g|gle x o
£ZLYOL# I'd SvXaL NIVHOHILSYN AIEI g m
"3'd IPIWYDS "4 uopuk] :Ag paipdald sjuswnooQ :10NAd0dd W SIE|& W &
Za
S
IA- .
o =2
-
> . ) LN
. . S ; B b
7, & vV v. = V. . >
3 v . .
g - - i

INTERIOR

[

1X Buck to be secured fo
masonry by others

1"\ VERTICAL CROSS SECTION
W Shownw/ 1Xsub-buck
Outswing shown (Inswing similar)

EXTERIOR

o

/"3 HORIZONTAL CROSS SECTION

21)27

\\y Shownw/ 1Xsub-buck
Outswing shown (Inswing similar)

INTERIOR

W

N\

INTERIOR

/2" HORIZONTAL CROSS SECTION
W Shownw/ 1Xsub-buck
Outswing shown (Inswing similar)

1-1/4" MIN.
EMB. (TYP.)

L'S 'Bmp0ggy-x L\sbuimesg\(upjs yioows) 1oedwy ‘anbedq - 100q sse|b1aqi4 586 YA - IAL\SU| J0 3daq sexa] - g\LNINVINYId uleiBiaise N\sIualD\Y



"ON| SLNVLINSNOQ aNIg1ing "Mm's 8L0z @

- SNOISIAFY
mmww__,.__wzw ﬁ<nw__m.mw_wwmw_mh_mooﬂ&ﬂﬂu_wwmw._. mmoq%%ow%%ﬁwomwm»ﬁomm A8 31vd [ON| oo 0
D TP — . S41] 3000 2¥1/081 810z Ol 31vadn| 0z/vo/e| L || U3| vid = r_
GBSEE 14 OdUIPA 0€Z Xog .O.&\&\M‘@u *A18W3SSY H0 Lyvd oo = = . % [}
"ONI ‘SLNVLINSNOO 9NIding ﬂ = g | 6_
4004 SSY1943814 © Elsle X
€ZLYOL# ‘Td Svxal NIVIOYILSYN MEIRMERERE:
'3'd ‘IPlWydS 4 uopuk] :Ag paJpdald sjuswinosoq :10NA0dd M W Z W m M

-nn-oltatotl~ln . .c|o zw\‘
[oinHos 2NN

INTERIOR

7“2\ VERTICAL CROSS SECTION

w Outswing Sill

EXTERIOR

EXTERIOR

m VERTICAL CROSS SECTION

\é/ Inswing Sill

INTERIOR

WOOD/CONCRETE
SUBSTRATE (TYP.)

1'9 ‘Bmp 088y-XL\sBumela\(ups yroows) 1pedw ‘anbedg - 100 sse|biaqi4 586 ¥A - (QL\SU] J0 3daq sexa] - B\LNINVINYIJ utesBisrse\sIuaiD\Y



Ll
LA
23 2.
@ ’I Ez';: § ;H‘é’
\ CONCRETE fu B 27
R £ . §Gu
\ (&) CONCRETE —— =TT £2 pto g
WOOD T 0 g8 Z8g 58
| — Cre [ (20) 27 338 g%
o 22’\9 . % o g@
—N\— UM & 8% g£p
x 14
CONCRETE (G) \ y 8 2&, by
| o] 4 . S [a)
WOOD @ — 110 ) HINGE DETAIL ¢ 3ok i
\ @ 2 § 0E
: i
LATCH & DEADBOLT DETAIL : F
L [}
s>
ge
R
9 < | oY
= o O=
| 8| o3
— — L — <O 0z Ly
o |.
- - e
= U’)g:-') P <’:§
_ i plz (il— S REE
- SEEHINGE__— 1\ CONCRETE e I
E DETAIL SEE TONGUE STRIKE 5 x| o
% (TYP.) DETAIL WOOD @ é b
= [2 e
2 (mvp) ! L
= N [3p]
i 5
s ) TONGUE STRIKE DETAIL L&
J__ g FRAME [l SREREE oL r 8
. \ CONCRETE \ A o
f SEE/&\/SL%TT& HEAD & JAMBS e | _ T S
| . ) _ - SEE MULTIPOINT ] 2 8| 2
WIRIKE RETALL e o LATCH & DEADBOLT B CONCREE 7 o6
43 o STRIKE DETAIL [ 2 2
- H =9 WOoOD (26 NEE
=9 3
g j— U
N - A g
2
L1} (@]
[ | | =t N[
MULTIPOINT LATCH & DEADBOLT STRIKE DETAIL N
O
STRIKE JAMB HINGE JAMB STRIKE JAMB il
Latch and Deadbolt FR A M E A NC HO R’NG Multipoint Lock -2

DATE: 8/28/18

SCALE:  N.T.S.

DWG. BY: JK

LATCH & DEADBOLT HARDWARE DETAILS MULTIPOINT LOCK HARDWARE DETAILS ok B, LFS

DRAWING NO.:
TX—4880

SHEET / oF 8

R:\Clients\Mastergrain PERMANENT\B - Texas Dept of Ins\TDI - DR 985 Fiberglass Door - Opaque, Impact (Smooth Skin)\Drawings\TX-4880.dwg, 7.1

© 2018 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Mastergrain PERMANENT\B - Texas Dept of Ins\TDI - DR 985 Fiberglass Door - Opaque, Impact (Smooth Skin)\Drawings\TX-4880.dwg, 8.1

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

A 2X FRAMING (SG >=0.42) WOOD

B 1XBUCK (SG >=0.42) WOOD
C 1/4" MAX. SHIM SPACE -

E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

G 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

J 1/4" X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

L #10 X 2-1/2" PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL

1 COMPOSITE JAMB COMP

/7 WEATHERSTRIP FOAM

8 SWEEP VINYL
13 INSWING ADJUSTABLE THRESHOLD ALUM/COMP
14 OUTSWING BUMP THRESHOLD ALUM/COMP
20 MULTIPOINT TONGUE STRIKE PLATE STEEL

21 MULTIPOINT LATCH & DEADBOLT STRIKE PLATE STEEL
23 #12 X 2-1/2" PFH WOOD SCREW STEEL
24 #12 x 1" PFH WOOD SCREW STEEL
26 #8 X 2-1/2" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
29 4.5" X 4.5" HINGE STEEL
40 DOOR PANEL s
CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted fo maintain the min.

edge distance fo mortar joints.

maintain

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

the min. edge distance to mortar joints, additional concrete anchors

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

. Concrete anchor table:

® 1 /4n 1 _1 /4" 2u 4"

TAPCON
ELCO - ) . .
uttRacon®| 1/ 1-1/ &2 4
ITW n " 1L "
TAPCON® 3/18 1-1/ 3 1-1/

WOOD SCREW INSTALLATION NOTES:

. Maintain

a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitfing of wood.

2.188"

1 COMPOSITE JAMB
WORLDWIDE

13 INSWING THRESHOLD
WORLDWIDE

~— 1.45" J

14 OUTSWING THRESHOLD

WORLDWIDE

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

MASTERGRAIN
FIBERGLASS DOOR

PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

LFS
B

3/04/20 |[UPDATE TO 2018 IBC/IRC CODE

NO.| DATE

1

REVISIONS

oATE: 8/28/18

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4880

SHEET 8 ofF 8

© 2018 R.W. BUILDING CONSULTANTS INC.



